Math 002-29, Quiz 3 (6.3 -6.6), Term 132, Instructor: Sayed Omar Pagel 05-Apr-14
SN ID NAME

Show all necessary steps for full marks.

Question 1: (6 points)(6.3 Exercise 31): Graph Y =—2C0S3X over two periods.

Solution:
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intercepts. Then make a table. Repeat this
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Solution: O£x+%§27z = —%<x <—

Step 31 Evaluate the function for each of the

5} y=-3+ Esinil .r—% i five x-values
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Step 2: Divide the period into four equal parts SR
to get the following x-values: —— . 0, > T, 251111. x 5 | 0 210 210
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Question 3: (6 points): Find all vertical asymptotes of y =2tan (37[X +%) over the

interval [0 , i} .
12

Solution:
All vertical asymptotes are given by: 37X +%: (2n +l)§ ,h=0,+1,+2,,£3,---
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If n=0 then X —ie [0
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If n= 1thenX——e { ,i}
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Ifn—2thenX— [ i}
1

The vertical asymptotes are: (X =—1| and |[X =—
12 12

Question 4: (7 points) (6.6 Example 2: Graph Y :gCSC(X —%)

. 3. V4 Ve Ve S5
Solution: vy :Zsm(x _Zj = 0<Xx —Es27z = ng S7
3
F
Step I Use the guidelines of Section 6.4 to graph the corresponding reciprocal
function defined by Zr
3. T.r) 1+
Y= —sm\x ——1|,
. 2 2
. L . 4
shown as a red dashed curve in Figure 63, —T T T ST
Step 2 %kclch the vertical asymptotes through the x-intercepts of the graph of ED <1T B} Y 27 B
y=5 HU‘JI:X - TJ These have the form x = (2n + ”T where n is any 4 2 B 4 9 9
integer. See the black dashed lines in Figure 63,
Step 3 Sketch the graph of v = %csc{_r - %) by drawing the typical U-shaped -3 1
branches between adjacent asymptotes. See the solid blue graph in
Figure 63. -

Math 002-29, Quiz 3 (6.3 -6.6), Term 132, Instructor: Sayed Omar Page2  05-Apr-14




